Compact NSX250-500 DC Japan
PLEASE NOTE

Electrical equipment should be
installed, operated, serviced, and
maintained only by qualified personnel.
No responsibility is assumed by
Schneider Electric for any
consequences arising out of the

use of this material.

Circuit breaker
[EI BB

AR

BRI ST IRIEASIE AT
TR ERERORMENMTOILIIC
LTLIEEL,
AEDFERICK>TELTEWHESIER
[l A€ N7 s € Sl ol 274 VB4
TREFEEVHIRET,

Schneider

HRB77661-00

Schneider Electric Industries SAS
35, rue Joseph Monier

CS 30323

F - 92506 Rueil Malmaison Cedex

www.schneider-electric.com
&>

© 2013 Schneider Electric.
All rights reserved.

)

PZ1/PZ2
2@

3P 6 (M10 x 27,5)
4P 8 (M10 x 27,5)

3P-4P 2 @4 x 20
3P-4P 104 x 14

3P-4P 1@5x 16

3P 4 (M5 x 85)
4P 4 (M5 x 85)

A A DANGER | f&f%

HAZARD OF ELECTRIC SHOCK, EXPLOSION OR ARC FLASH

m Apply appropriate personal protective equipment (PPE) and follow safe electrical work
practices. See NFPA 70E, CSA Z462 or local equivalent.

m This equipment must only be installed and serviced by qualified electrical personnel.
m Turn off all power supplying this equipment before working on or inside equipment.
Lock the switchgear in the isolated position.

m Always use a properly rated voltage sensing device to confirm power is off.

m Install safety barriers and display a danger sign.

m Replace all devices, doors, and covers before turning on power to this equipment.

m Repair the installation immediately if an insulation fault occurs during operation.
Failure to follow these instructions will result in death or serious injury.

BRE. BE. PINT VDB

m B EARRER (PPE) #2 B L. EXR T EBRORE/EEDRRIC

zitzfﬁc“ifb\o NFPA 70E. CSA Z462% fz l& B EWNIC R ZERTORIEDEELR B
ZEL,

m AEBORIGFEERIE BREF DBIRMEITOILIICLTEEL,

n EBOESI PRIBOIEEIL. TN TDEREA 7ICLTHSTOTLIEETWV A1V F

EBIIHEGEINIBPRICEREL T ELY,

B AT ELVERDEFREEBAFERL T ERIA 7ICE>TWBTEAREREL TS

()

m EMEE S ERIESE BT ATV ARBOBFEE SV ICT BRI TXTD

TINA R B AN—ZE I TIEE L,

n BERIGEBARINRE LIEEIE. EBICEBABELTIETL,

TNSDIERICHDEVE BT IEEE DRI BIET,

Push to trip

OF1/0F2/0F3

4P

M5 x 85 ‘F 351
g% Ul as s Ul as | 45 445
Y Y

@
1.7

1.7 1
|

070

el )

\
7

HRB77661-00

1/6



-

U 1000V = 3P

PLEASE NOTE
m Ratings are based on IEC60947-2 standard.

m Refer to the limits defined in derating table depending on the ambiant

temperature.

AR
B EARIEIEC60947-21ZHECE DNV TWVE T,

m AEEEICSCIRRMENER TN VST L— T VI RETBRLEL,

A A DANGER |/ f5[&

HAZARD OF ELECTROCUTION, OR FLASHOVER BETWEEN POLARITIES
The following must be mounted:
m either the LV432593, LV438292 or LV432591 terminal shield

m or LV432570 phase separators and diodes to prevent the appearance of reverse

current.

Failure to follow these instructions will result in death or serious injury.

BREILF ol SBRDIBIRD B
LUTERYMTZRERSY KT -
m LV432593, LV438292. F1cldLv432591D %2 —3F+)by—)b R

B M EROREE CTeHDLVA325707 T —A/N\L—Z ELAF— K
TNSDIERICDEWE. BT IEEBOERAHIET,

PV source
PVY—X

0,9 N.m a 1 N.m 9
8 Ib-in 9 Ib-in %

PV source
PVY—X

LV438338

O’QNM 1N.m Q|| Fnm é?%
8 Ib-in 9 Ib-in % 4425 1b-in Q)

LV438338

HRB77661-00

2/6



U s1000V == 4P

PLEASE NOTE
m Ratings are based on IEC60947-2 standard.

-

temperature.

m Refer to the limits defined in derating table depending on the ambiant

AE
m EARIEIECB0947-24ZHECEDWVTWET,

n BEBEICSCARENERENTVE T AL —T A VI RETBRILEL,

A A DANGER / fgf&

HAZARD OF ELECTROCUTION, OR FLASHOVER BETWEEN POLARITIES RREBEIE I SBREDIRIRDERR

The following must be mounted:
m either the LV432592 or LV432594 terminal shield

m or LV432570 phase separators and diodes to prevent the appearance of reverse

current.

RN 2RELNDY) ET !
m LV432592F fz(3LV432594D R — = F )b — )V F

TNSDIERICRDEVE ECEFEEDBRDHIET,

Failure to follow these instructions will result in death or serious injury.

m A EROREE CTeHDLVA32570T7 1 —A/N\L—Z ELZ A A — K

PV source
PVY—X

O'QNW@ 1N.m Q| Znm ‘
8 Ib-in 9 Ib-in % 4425 1b-in Q)

LV438338

HRB77661-00

3/6



35...300 mm*Cu / Al
" AWG 2...600 kemil Cu /Al

S:

O

30

&fiz
>

24,5

96

°¢

"2XxXAWG 2...2 x AWG 4/0 Cu /Al

2x35..2x95 mm’Cu/Al

" 2 x 250 kemil...2 x 500 kemil Cu / Al

2x120...2 x 240 mm’Cu / Al

3P LV432481
4P LV432482

3P LV432479
4P LV432480

—

Gz N\
ot

=

el A —

]
3P LV432486
4P LV432487

;

%

3P LV432586
4P V432587

\\

4\1

= A

/

,rsz,sr

3P LV432490
4P LV432491

d

5]

0
3P LV432492
4P LV432493

E,I—
3P LV432484
4P LV432485

mm
in

oY
°s o<
N y
g™ A Vi
2
<
=X
NV
i
o
o
VY
-
s

Cad M N\

.

I1b-in

50 N.m
442 Ib-i

M10 x 27,5
N,

@

4/6

HRB77661-00



M10 x 27,5

8 Ib-in

20 N.m
176,

0

D

%

,Irngc/'l/

©

LV432475

LV432476

A

U>500 V=

Mandatory U > 500 V=
MHE

1

3P LVv432591

4P LV432592

3 U > 500 V=

A

v
WA

Mandatory U > 500 V=

~

A

3P LV432595
4P LV432596

3P LV432593
4P LV432594

3 U > 500 V==

-

Mandatory U > 500 V=

~,

L

A

4P LV438293
4P LV438294
4P LV438295

3P LVv438291

3P Lv438292

5/6

HRB77661-00



LV432570

U >500 V=

‘R

Mandatory U > 500 V—

~,

P

A

3P LV432578
4P LV432579

=

> |

6/6

HRB77661-00



